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Run 4391 triggerwise, sums: All

Entrizs: 1701545

Mlzan: S358.9507 4 22859

Sid Dew: 4351 4643 +- 1,600
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Run 4391 triggerwise, sums: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Endrias: 1213450

Maan: BEEE.01748 +0 4.8578

5id D

SEE4.0510 4+ 3135

Enirias: 1213530

Maan: 2557.3685 4 4.4307

Std Dew: £22008810 +- 31330
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Run 4391 triggerwise, sums: Beam OFF
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Entriga: T

Maan: DEET.AT0Z 4 31.3884

Sid Dwrw: B4Z.2320 - 221784
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Run 4391 triggerwise, sums: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Eniries: 536402
Maran: 4338.1723 +8 1E107

Sed Dwrw: TTE4.9260 4+ 25531
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